PROBLEMS OF UNIVERSITY ENTRANCE EXAMINATION OF BUSINESS ECONOMICS
1/1

3rd PART - TOPIC 8.-

PR_8.01_09.- Suposse that the computer sector is made up of three firms A, B and C. For a certain period of time, the total sales of each one of the firms are 800 million, 600 million and 400 million, respectively. Calculate the share market of each one of them. What does this share market represent? OUTCOME: 1 = 44.44; 2 = 33.33; 3 = 22.22 SOL_PR_8.01_09 

SOL_PR_8.01_09.- 

Share1 = 800 : (800 + 600 + 400) x 100 = 44.44%

Share2 = 600 : (800 + 600 + 400) x 100 = 33.33%

Share3 = 400 : (800 + 600 + 400) x 100 = 22.22%

The share market represents the percentage of the total sales of the sector that belongs to each firm

